STATION #1:

Geometric Properties

1. Find the values of x and y in the picture.

3 Draw and label a picture 10 represent the following:

a) Line WZ includes points X and Y so that X 1S the midpoint of

segment WY and Y is The midpoint of XLZ.
b) Angles WXA and BXY are obtuse vertical angles.
c) Angles AXY and YXC are complementary.

d) BXCis aright angle.
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STATION #2:

Triangle Congruence

Determine whether each pair of triangles is congruent. If so, write a congruence statement
and explain why the triangles are congruent. If it is not possible, write nof possible.
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STATION #3: *

Parallelograms
If each quadrilateral is a parallelogram, find the values of x, ,
and z.
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4. In parallelogram ABCD, mZ A = 3x 5. In parallelogram RSTV, diagonals
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Find the values of x and y that ensure each quadrilateral is a
parallelogram.




STATION #4:

Similar Polygons

ALGEBRA Identify the similar triangles, and find r and the measures of the

indicated sides.
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STATION #5:

Parallel Lines and Transversals

I. Use the figure to fina:
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STATION #6:

Proofs

| . Given: Cis the midpoint of BD, AB = AD

Prove:
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